EARAROBREBRT —5 XN—ZXBISH—F

20224E118238 (KK) 18@m&diE2H

(L9 7 - EF | KEZFASTEE 2 USR2® (R m | Ewm - | 9 500 AR
[xE&] 15 :540,000H  23%&:178,000 @ ~ 33#&:108,000 3 . 43%&:70,000 ™ 5 3&:49,000
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— DT . 33 — ROREK (BER)
1181 NZ /= 4 2 575.0E 1.(3_8).0 3-3-3-1 39.8 2 (4_1?(7)) J:??é@
RIXAVRAFERYwY #:0-9RITA—V B HFEEER S IVRE S
» FEIBRER : -2-1- - AliEt (BEE)
) 6 | "N RTIL—2R 42 [ 1.(34%.9 2-2-1-2 | 40.7 3 (4_21(; g
RE—FNO—-L B:HUEFYELT ot %8R
NOEEES— :39. -6-6- . - BOXX (BEE)
3 7|O0—3x77 4 2 e 1(319)1 6-6-6-4 | 40.5 1 (5+317) ﬂ%ém
RN—EVIv— B:5A(4F4N\O-X XP @
== fo2 | BEED 1:39.6 5-4-5-5 | 41.0| — 9 M6 | ZEES (BEE)
41718 =4 54.0 2172 (-10) aEix
RPIPITAFVR B:PSEFFIER xE IE
= o HIEEFIE : —7-7- - MZTEE (BEE)
5/5|5|7AITLRE— 2 1(93?:? N ) :1_23 TEER
RiVvINARE— B:RhOAAAXU— ZR&T77—L4A
~ = I} . -1=-7- — =Y
6 ) FRO/SY 21— £ 2 g%sﬁam 1(73?:)7 1-1-2-3 [ 41.5 7 (4_3;; %ﬁ;& (C=)
RIFURAYZvT BIJARIY IV AW FTHis
» o REFIER :40. -9-9- . - SEEe (BEE)
717 9| EVILY—F i 2 R (11 410/2(; 9-9-9-8 |39.6 6 21_071) Fadiis
R:Od=ILRFI9— B:FUYERLI—F 4D ZHUG
—3 3~ 42 | FPPseE 1:40.5 4-5-4-6 | 42.0| - 5 495 ||MBEX (BEHE)
g|1|1|=YFIAVY 5.0 @1/2) (o) | BEEIEE
RiIAvvehAY B:IAIV/)7 SERUS
HEFBSEE : -8-8- - Bt (BEE)
9 4| TTARA—Z 4 2 i 1.?92).3 8-8-8-9 | 42.2 8 (3_857) q:mfgs;
R:/ITURN B:IVAYVRFY-O L—Rh— 245
=~ = A : -10-10- - BHES (BEE)
10lsliol 73 r70-5 42 e 1.(453).3 11-10-10-10| 40.5 10 21_921) e
RS/ VIv—0 B:5FUya—-2R YUY w4 KB
o~ = RFRFIAEB : -11-11- - BHES (B4R
1 3| A=A NRYT ¢ 32 . (;L}rsé) 10-11-11-11| 42.6 11 21_167) e ( )
RiTT/—X/) B:RIA)IATXOY J—2ZH=FY
@ 1—F—&RIEL
13—7— 2,6,11,1,8,7,5,4,9,3,10
20— — 2,6,11,8,1,7,5,4,9,10,3
33— — 6,2,11,1,8,7,5,4,9,10,3
40—F— 11,6,2,7.8,1,5,9,4,10,3
0 ILRE
BB 1 250 JA R 6-11 170M % 3E 6-8 230 3EE 6-7-11 470/
B B 1 110/ 7-11 160/ 5 E 6-11 480M 3EH 11-6-7 1,970
6 1309 6-7 250/ Ba 1-6 780
7 100/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




